
12·6= 18·9=
· 6 · 9

10 10 39 = i 128 = s
2 8 51 = r 133 = z

72 = d 136 = n
75 = e 162 = a

16·8= 14·6= 84 = w 195 = a
· 8 · 6 91 = a 228 = h

10 10 96 = g 238 = !
6 4 121 = n 252 = f

126 = a 272 = c

13·7= 17·3= Lösung:
· 7 · 3

10 10
3 7

6·16= 9·14=
· 10 6 · 10 4 Lies
6 9 die 

Lösungs-
buchstaben

8·17= 7·19= von
· 10 7 · 10 9 oben
8 7 links

Zeile
für

5·15= 3·13= Zeile
· 10 5 · 10 3 nach
5 3 unten

rechts!

11·11= 14·18=
· 10 1 · 10 8

10 10
1 4

13·15= 16·17=
· 10 5 · 10 7

10 10
3 6

12·19= 17·14=
· 10 9 · 10 4

10 10
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